ISO ofjo{ @ m{2f|o| E uiE

SIP

SIP ISOAIZIZ, ofloj2m{2|0|E WH

SIVs11.p.

oty
= o010 Er0|
T daTT H

@ IS0 Manifold LHE7Hs

P .
\
@ A= @ Tk ® Hlo|ALA
SP A2 11 294%| 42 2715 : HlolA He|
2 2%RI S C1 & 1/4 A2H0|A B3}
Q@ HE A2[= 3 : 3%|x| Close Center 2 : 3/8 AIZHj0|A Ei%t
2 1 SP200 Al2I= 4 3X| Exhaust Center C3: 1/2 AIZH[0]A B2
3 - SP300 Alz|= 5 : 39Ix| Open Center C4 @ 3/4 M2t0|A R
41 SP400 AlR|= C5: 1 AlZHo|A Bt
5 : SP500 Al2I= @ 2urAl
6 : SPE00 AZI= 0 : None
12 0flof +AzRl2lH
2 1 ojlofale
3: Am2la|E
& H|O|AREl 72
#l0| AT SP200 SIP300 SIP400 SIP500 SIPE00
1/4(C1) 0 o} - - _
3/8(C2) - - 0 o -
1/2(C3) - _ o o -
3/4(C4) - _ - 5 5
1(C5) - - _ _ o

552YPC



Isonax, ooiemzoE us SIP

a2 5ZE 29| | SZE 39J%|
AMESA 37| Y 22 7tA
AR 0.15~ 1 Mpa | 02~ 1 Mpa
2| Y ARBRAIRE 5~ 60° (41~ 140°F)

2L (H SRAI IS0 VG321 ALR)

THEHH7 1

¢ BEHY
A 7 HahA| SEHE AT QECBEmm?
SIP200 1/4 12.0mm?
SIP300 Pzl &2 1/4 18.0mm?
9Ix| ol
H|O | AHH2FS SIP400 Close Center =M 3/8,1/2 30.0mm?
Exhaust Center
SIP500 Open Center 3/8,1/2, 3/4 65.0mm?
SIP600 3/4, 1 90.0mm?
o TILIZC Z23A
Hlo]A FE&A SIBOO-S OiLIEE FEEA SIMO0-00
_SB21 |- S . SIM42 |- (MO3)
\ | [
® HZ Hlo[A Q M ® M ojL|EC Q o
SB21 :SP200E 1/4 S AlZHjo|A SIM21 :SIP200E 1/4 MO3 : 33 ojLi=o
SB31 :SP300E 1/4 SIM31 :SIP300E 1/4 (Bx 28~ 103)
SB42 :SP4002 3/8 SIM42 :SP400L 3/8
SB43 :SP400E 1/2 SIM52 :SPS00L 3/8
SB52 :SP5008 3/8 SIM53 :SIP5002 1/2
SB53 :SPS00E 1/2

SB54 :SP5008 3/4
SB64 :SPE00E 3/4
SB65 :SPE00E 1

www.ypc.co.kr 553

o
H
]
i)
Im
e
[
2]
o




_ SIP200 Al2|=

> 291X &=
SIP211 SIP211—-C1
2 4
%SDE’Q’ Jz—ms Hole

qzso\

1/8 1/8
— - 7 ——r—— J
(] |
0 )
2 o | gom,<~>7 o
B8 17T AEL T
| ©| |
L T ‘
68.0 /‘\’ / \’
g \ External Pilot Port
28.0 M5x0.8
68.0
21.0
14.0
7.0
- © 3 E3
3 R0y
= 3.5 <

122

> 291%| CiE
SIP220 SIP220-CH1

2 4
%EDEQ 2-033 Hole

; 122 0 p %ﬁgﬁg\ Pilot Port
14.0
7.0
iy [3 %
I zr@%@ oyl
2.2 35 S‘
40.0
49.0

554 YPC



isonaix, aoiemaoE w2 SIP200

_ oI x|+

» 32|X| Close Center, Exhaust Center, Open Center
SIP233 SIP233—C1

2 4 2-(3.3 Hole 2-1/8
ST o Y
@gi' % -
SIP243 250 _ - T
2 4

ST
315

2-1/8 %Ie{)ng\ Pilot Port
SIP253 S W | =
2 4
SO =
315 <} 4‘
'88

.0

> HLIED FEHA

Ho|A F2SA! SIB21-S 2-M3x0.5 DP5.0
220 350
SB21 | -[s N e .
| | A =2y hid
-
® o IE
% § G o 1 § § E[ External PHVS\ISES%
@ A2I= iy
SB21 : SP2002 Hjo]A — T
5-1/4 H35| \_2-34.3 Hole
(1,2,3,4,5—Port)
Q@ A1
S2H0lA 1/4
I 130, 6-1/4
4-04.3 Hol ‘ (1.3.5-Por)
iLZEH FE&A! SIM21-00 e e I ’—‘
S SIM21 |- [ 02 E@ 51| 1 EL J
=l N EE R D
® @ Pa7| 7 [ e
D1
® Alalx —] -
. 3
SM21 : SP2002 oiLIEH b15 _|P=190 1179,0
A=(19n+24.0) 330
® oA 65 B=(19n+11.0) 65 765
T
02 : 2 mjLi=H Ao
. -~ <]
(@E 03 ~ 10) S GG el
BLK : =27 Z3oje el I
SP: I, 2E HE 0 Qa
190 | 160
Blanking Plate
OHLIZ X|5 reais

L

s= 2 3 4 5 6 7 8 9 10 | 11 12 | 13 14

B 49,0 | 68.0 | 87.0 [106.0/125.0/144.0|163.0{ 182.0{201.0|220.0|239.0|258.0| 277.0
A 62.0 | 81.0 |100.0/119.0/138.0]157.0]176.0{195.0{214.0]|233.0|252.0|271.0| 290.0

Manifold Gasket

www.ypc.co.kr 555

o
H
S
i)
Im
L
|
(2]
T
N
o
o




_ SIP300 Al2|=

> 29I%| A2

SIP311 SIP311—-C1
ZAVIIFARS

395 2-(34.3 Hole

.
ERE
fi
_—

1/8 1/8
 ——— - | —— v‘l -

External Pilot Port
M5x0.8

490
375
35.0
!
|
~#E
|
|
735
49.0
375
35.0
1
|
I
|
I
|

|

26.0
2,
|
&b
&
Jo-FH-Dr
£
CH

3.0 55

> 22|%| g
SIP320 SIP320—C1

[«

/2— @4.3 Hole
&%

190
r*‘—f 1
I

99.0 | a N
D
N
38.0 External Pilot Port
085 ‘ 9.0 | M5x0.8

=
o

TodDo;

_ éci

N

556 YPC



isonax, aoremaoE w2 SIP300

_ oI x|+

» 32|x| Close Center, Exhaust Center, Open Center
SIP333 SIP333—C1

2 4 2—-(@4.3 Hole 2-1/8
ST = fiﬁ/
315 H» en)| @ en)| L

N )
==

SIP343
2 4
SO
SIP353 _ L _

2 4 _
—»W[K[@;E&}—
|

External Pilot Port
M5x0.8

> DHLIEC =8 ¥

Hlo|A FZH4A SIB31-S -

2-(04.3 Hole
245 380 o
[ SIBs‘I J B { S J N \ 0 2-M4x0.7 DP5.0 05
‘ | T
szl b
®» @ ) =
e e
A= Jd Jd 3 -
. SIIB3|1 - SP300E Hl0jA ) 3 23 @@@f{ = Era it Pt
of £ g =gl =
Q@ AL ‘ é =IESIN ‘
S AZH0|A 1/4 5-1/4

(1,2,3,4,5-Port)

= to
OiLIZ2E T2HA! SIM31- == = | =
iLIZH F2EA SIM31-00 . \ ‘ =
; 5
 SIM31 |- [ 02| | 1 im
\ | % ‘ piE | Bld | | 52 B s
|| = | g & &
® @ o e e 8y 5 o
OJVCIES J | @ ﬁ | ik 3
SM31 : SP3008 TLIZC ) ‘ | 8
A V—J:l
@ A= 285 P=27.0 ‘
02 : 23 mjuZEr
. ~ 65 B=(27.0n+17.0) 6.5
(EZF 28~ 108) A=(27.00300)
BLK: E¥Z E2{0|E
S EH;O" %E ng FiliAPort)
OHLIZC] Rl et

B

2 3 4 5 6 7 8 9 10 | 11 12 | 13 14

B 71.0 | 98.0 [125,0]152.0]179.0|206.0{233.0|260.0|287.0|314.0|341.0|368.0| 395.0
A 84.0 1111.0/138.0]165.0]192.0]219.0{246.0|273.0| 300.0| 327.0|354.0|381.0| 408.0

o
0|
I

@
P
P

www.ypc.co.kr 557



_ SIP400 Al2|=

> 291%| &=

SCP411 SIP411-C3
2 4

=RVIIFARE

280
.0,
B
I
|
i
[
|
[
|

K B
280 36.0
4~@6.0 Hole
) 18 ) /8
=1/ =Y
o R — T i a N T .
= ! ! ! . : ! B
A8d9a LT o
! ‘
s i i i B f i f 4
, |
250 420 |
100.5 \ External Pilot Port
36.0 35 18
18.0
| B
| é—gg I

40.0
115115

=

9D D7« B

53.0 \ 3-03.3 DP4.0
65.0
720

> 22|%| g
SIP420 SIP420—-C3

S F JOe o
315 1 @,m,@A L
i }6‘9 | H

) 2-1/8 | . 2-1/8
= / = = /

|
T
{

|
t i 4
420
109.0 N\ External Pilot Port
1/8
36.0 35
18.0

=
&
%,
&
s>

T
|
=

=
=5
EF

{

|

558 YPC



isonax, aoremaos w2 SIP400

_ oI x|+

» 32IX| Close Center
SIP433 SIP433-C3

2 4
SOTE T2
315

External Pilot Port

35

o |
52
=1

» 32|X| Exhaust Center
SIP443 SIP443-C3

2 4
SO
315

| External Pilot Port
1

o
H
S
i)
Im
L
|
(2]
T
D
o
o

35

D
D
<=}

www.ypc.co.kr 559



_ SIP400 Al2|=

» 32I%| Open Center
SIP453

2 4
SO 150,
315 ‘{B

SIP453—-C3

Yle | 4 @‘%
T L 2-1/8
R H T jﬁﬂf’/
‘ 36.0 4-@6.0 Hole : .\ : =
2-1/8 ,A%,WLHT,WL,Ak,i,*
e S o
i [ —— B !
{1 .%_%,T‘;, .%_%,4%,7,* | E}(gemal Pilot Port
I — 0 2 | 4
AéO 125.0
125.0
36.0 35
[
ew}‘eﬁ, 1
gafafagll 1
943@ @Me B
50‘
53.0
65.0
720

560 YPC



isonax, aoremaos w2 SIP400

_ oI x|+

> LB =3 QEix
H|o|A F=EEA SIBA3-S
62.0 37.0
" SB42 | [ S |
380 220 |
‘ é) 140 280 /4—!2)7,0 Hole . 140
(o rea
4-M508 DPBO — | S \
SIB42 : SP4002 tlo]A 3/8 ghirgqm
(=)
SIB43 : SPA00S H[o|A 1/2 g = N L g g
! = o
SRCoE
— & ol
Q@ A1 5 =
S AIZH|0|A Port Thread hd
External Pilot Port
D — LIAF AR
g 2y MODEL | A(4),B(2) P(1)  [R1(5),R2(3)
gl goﬁi SB41-S(P) | G1/4 Gi/4 G3/8
' SB42-S(P) | G3/8 c3/8 c3/8
SB43-5P) | G1/2 Gi/2 Gi/2
HLIZC 24 SIM43—-00
4-@9.4 Hole 1140
[ SIM42 }— [ 02 J | | IS o | i 20
\ \ ‘ ‘ y b D
@ @ | | _ =
| o2 efiel jofie |5 o o
o= o= e |= 1o 2% ‘ H
@ Al2|= ST CHEN ST il A o
SIM42 : SP400S THLIZE 3/8 N EHER EHER ER 2 ® MR EE =
| e|l> 112 —® e A | e N ‘“ [l
e |9 |Pee [Pwe o - - h
] N O
@ A+ ‘ ! - ey e |1 I3
02 : 23 tjLI= y A %
(FEZ 23~ 103) 535 | P=430 | \ g
BLK : E3Z Z30|E 105 B:((43.0n+43.0)) 105 4-1/8 = (673/8.1/2) =)
A=(43.0n+64.0, (Pilot Port) 1,3,5-Port,
SP: I EE ME
1352E7Z | C D
PT3/8 | 210 | 300
PT1/2 260 | 260
3/8
(2.4-Port)
OiLIZC] 21 -
CARGCIRCINCG e :
ol Yolel| Y2lol| T:lo| 2o o gaifl 2|3 4|5 6|7 |89 |1011]12]13] 14
S D D D o B |1290]172.0(215.0|258.0]301.0(344.0|387.0[430.0 | 473.0| 516.0| 559.0[602.0 | 645.0
4 4 4 JIM |2 A [150.0[193.0]236.0|279.0[322.0365.0| 408.0| 451.0 | 494.0 | 537.0| 580.0| 623.0| 666.0
430 535

www.ypc.co.kr 561



_ SIP500 Al2|=

> 29IX| &=

SP511 SIP511-C3

2 4
315 <

=
g
Si

4-(6.3 Hole
~1/8
— 4 4 il
T 0 B,
| i
|
TR
A re:] | |
g L1

i
1165 External Pilot Port
@\T/@ - Te

> 22|%| g
SIP520 SIP520—-C3

M0«

480 | \_4-063 Hole

‘ External Pilot Port
‘ 4@\/@ ™1

o % ©
R ERtATagtinl

562 YPC



isonax, oiemaoE w2 SIP500

_ oI x|+

» 32|X| Close Center
SIP533 SIP533-C3

2 4 240
RN A
315

AR
%#%% — -t 2-1/8
4&30 £ F@; o 7 1
4-@6.3 Hole ] ‘ 'g
s is

| External Pilot Port

Bl
T
=
iﬁb
&
FX
7 =)

» 3¢lX| Exhaust Center
SIP543 SIP543-C3

2 4
ST
315

T

f— 44!,4
=5

|

[

|

B
64.0

6.

V ‘B'OV | | External Pilot Port
P e )
|

o
H
S
i)
Im
L
|
2}
T
(&)
o
o

www.ypc.co.kr 563



+ SIP500 Al2|=

» 3%¢IX| Open Center

SIP553 SIP553—-C3
5 4 240
»WSD?T;EM— 0 AR o
A%<%#E§EEL« 2-1/8
1 l B ' :
480 1

=
-t
=
|
7
e
@< i
4 4———'>—
| =
|
|
T

| External Pilot Port

1395
1395
480 35
240
Iy =) B

SEse

100 00 (o>
S0
oo

564 YPC



isonax, oiemaoE w2 SIP500

_ oI x|+

> BHLISE F2EA

Hlo|A FZY4A SIB50-S

75.0 485
SB52 |-[ S s
C‘b é} B 4-MBx1.0 DP9.0
OPNEES ]
D
SB52 : SP500Z H|0]A 3/8 g d o
SB53 : SP500R H|0|A 1/2 TOTTT 989 7 N Exeal P o
SB54 : SPS002 H|0|A 3/4 '**@ —
- Iy
e P
AR f 100] |9
® |.° 2-075 Hole/
S A=to|A
MODEL A B @ D

SIB52-3/8 | 36.0 19.0 60.0 29.0
SiB53-1/2 | 31.0 23.0 63.2 32.0
SIB54-3/4 | 36.0 23.0 67.2 26.3

IHLE FES4 SIM50-00

' SIM52 |- 02 ]
® @

OPNEES
SIM52 : SP500& THLIZH 3/8
SIM53 @ SP5002 THLIZH 1/2

@9
02 : 23 ojuEH
(BFZ : 2= ~ 103)

BLK: =¥ 2olE
1340

-2l EE E 61.0 I'o
SP g, EENE 500 H
D o
65.0 P=56.0 gl
4-0128 Hole\ ] <)
1A . ]
i ‘ = i M=
1 g 3 E I
| g = o9 wn
1 ® C\L 2 —
o | 4 8 . &
S S E é — Og 8
e | < oD
| ° : ﬁ
‘ 1
Q} ‘ (Pilot Port) " T
X 1 ! 6-1/2,3/4
| =1 (1.35-Port)
00 0o 1B5EEFH| C D
PT 1/2 300 | 320
3/8.1/2 PT 3/4 37.0 25.0
2oy 25 24P OjLiZC Rl —
Fr-nyY 'Y FAAY [, ~
@2 @2 @2 ’j}i\ axtl 2 3| 4|5 |6 |7 (8|9 |11 121314
® ® ® ® A\ ® B |166.0]222.0|278,0|334.0]390.0|446.0|502.0 | 558.0|614.0|670.0| 726.0| 782.0| 838.0
FLLYLLPLLYLET | A [186.0]242.0[298.0]354.0]410.0] 466.0]522.0]578.0] 634.0690.0] 746.0] 802.0| 858.0

www.ypc.co.kr 565



_ SIP600 Al2|=

> 291x| &2

SIP612 SIP612—C4
AMe T
55 fo- 1o
&, Y
. J%&»%—
| |
510 | 64,0 |
4-@8.5 Hole

1/8 1/8
ﬁa [ r{:{/ ﬁ ‘ VW
§m o, *7i<L,714,J‘_,,777%f§ ,*7i<L>7%747L>,777%V§
NEEE | | | | | |
] I | ] ] |
' 1660 B — ‘ i
@{ @ {_ External Pilot Port
64,0 | 1/8
320 ‘
o | 1850
N &)
© |

100
060
1160
> 29Ix| CiE
SIP620 SIP620—C5
2 4 320
’b’@ﬂ]{)ﬂ’%’ 1() {9_}

{O%%]

4-(8.5 Hole

s a— i B 1

N N — h
| | | o j | 5 o
e o O O 1 e O O
| ‘ | | ‘ |
| | | | |
' 1660 D ‘ R
2;&8 @/@ N 1E}<\8ema\ Pilot Port
w |
PN —
o0ie
RS
100
106.0
116.0

566 YPC



isonax, aoremaos 22 SIP600

_ oI x|+

» 32|X| Close Center, Exhaust Center, Open Center

SIP633 SIP633—-C5
2 4 320
L ANNITALS ‘ 20
315 D- } - Fiﬂ ‘ R
{ = = o
SPe43 T T el T Tal T 11 i
T 7’7’*’k’}77—'7*777A%7%k
: fo- | & | |
ST a | |

315 ) ) 4-08.5 Hole A * * N
L ?/dgema\ Pilot Port
SIP653 ‘
. 2-1/8 |

2 4 ﬁ +
ks 315 - : t [—i‘ij( 1660191_0
e
INEEE
—
1910
> OiLIEH =B i&dE
Hlo]A FEHA SIB60-S
{ SIBGS } _ { S J 480 4-MBx1.2 DP12.0 BT 20 270
- to
@ Alzlx -
. -
SB64 : SPB00S Hl0IA 3/4 f ) S
SIB65 : SPBOOZ H|0|A 1 T Im
S A = ns
8¢ o
? )Skfgi:tﬂw j IQ
co=nlias 1 T g
o
o

2-08.5 Hole

External Pilot Port
/8

7 MODEL A B
A “) } SIB64-3/4 42.5 84.0
T SIB65—1 50.0 90.0

36.0

105

www.ypc.co.kr 567



